
19 Aralık 2023 Salı Yarış Sonuçları Adana Hipdromu (16. Yarış Günü)

4. Koşu  Saat:16:30 G 3/DHT 58 kg, 59 kg, 1400 Kum

İkramiye 1.) 466.500 t 2.) 186.600 t 3.) 93.300 t 4.) 46.650 t
Yetiştirici Primi 1.) 134.119 t 2.) 53.648 t 3.) 26.824 t 4.) 13.412 t

Forma S At İsmi Yaş Orijin(Baba - Anne) Sıklet Jokey Sahip Antrenörü Derece Gny AGF St Fark G. Çık. HP

1 CANIMKARDEŞİM(3) 5y a a AYABAKAN - BADEKIZIM 59 E.ÇANKAYA SAB. AKSU A.ÇİFTÇİ 1.35.95 11,50 4.2(9) 12 3 Boy 2.5 Boy 92

2 HEDBE(5) 6y a a BERKSOY - DİZİ 59 M.AKYAVUZ HİK. ÇELİK HAS.YILDIRIM 1.36.43 7,50 9.14(5) 5 2,5 Boy 90

3 HALİM AĞA(11) 4y k a CANBERKTAY - BAŞAĞIM 58 K.TOKAÇOĞLU ABD. KILINÇ V.AKBULUT 1.36.86 7,20 12.16(4) 10 1 Boy 94

4 GÖLALAN(4) 5y k a TAMERİNOĞLU - KIZILGÜL 59 A.ÇELİK ERO. YÜCEL A.GÜVEN 1.37.02 4,15 17.08(1) 9 Yarım Boy 94

5 PİŞMAN AĞA(12) 4y k a KOPUZ - KAMERLİN 58 VEDAT ABİŞ MUR. ARSLAN RE.ARSLAN 1.37.10 3,20 16.06(2) 3 90

6 ALİBEĞ(1) 6y a a UÇANBEY - PERİKAYA 59 İ.AKYAVUZ EMİ. DİREKLİ S.POLAT 1.37.42 53,85 2.05(11) 11 92

7 BAY TOSUNOĞLU(9) 4y a a UÇANOĞLU - ARTVİNLİ 58 H.ÇİZİK SEV. TOSUNOĞLU C.KARATAŞ 1.38.21 7,05 12.4(3) 6 95

8 AŞKARTAY(2) 6y k a HIZLITAY - ZAMANGÜLÜ 59 S.BOYRAZ AHM. AYDOĞDİ O.GÜNDOĞDİ 1.39.08 20,50 4.11(10) 4 94

9 TANIŞIK(13) 4y a a TURBO - LUSAKA 58 E.ÇİZİK MUR. YILDIZ M.ARSLAN 1.39.70 50,30 1.97(12) 2 88

10 TUNÇDAĞ(7) 5y d a ÖZDURAN - RAZİYE 59 F.YARDIMCI İ. HAK. BOYRAZ Y.UÇAR 1.40.62 15,60 7.89(6) 8 94

11 ÇAĞGÜR(10) 4y k a YAKUPBEY - AVŞARKIZI 58 V.DEMİR M. KEM. UÇKAN M.ARSLAN 1.42.50 80,40 1.41(13) 1 70

12 PEKALP(6) 5y d a TÜMÖZ BEY - DOĞUNUN YILDIZI 59 A.SÖZEN HAS. ARSLAN M.ÖRTÜNÇ 1.44.18 19,55 5.22(8) 13 90

13 ZAFER MEYDANI(8) 6y a a UÇBEYİ - HOŞSESKIZI 59 M.S.ÇELİK A. ERK. YILMAZ MUR.ÇAM 1.44.93 14,25 6.32(7) 7 100

GANYAN(3) :11,50 t, İKİLİ(3/5) :80,95 t, SIRALI İKİLİ(3/5) :155,95 t, ÜÇLÜ BAHİS(3/5/11) :685,26 t, PLASE(3) :13,20 t, PLASE(5) :11,30 t, PLASE İKİLİ(3/11) :29,00 t, PLASE İKİLİ(3/5)
:32,20 t, PLASE İKİLİ(5/11) :24,60 t, SIRALI 5 Lİ BAHİS(3/5/11/4/12) :18.994,05 t, 3. ÇİFTE(8/3) :118,50 t


